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1.

4‘

Which of the following is a deferred revenue expenditure ?

(A) Legal expenses incurred on the purchase of land.
(B) Expenses on a mega advertisement campaign while launching a new product.

(C) Expenses incurred on installation of a new machine.

(D) Wages paid for construction of an additional room in the building.

Profit volume ratio of an enterprise is 40%. To offset 10% decrease in selling price, how
much sales must be increased ?

(A) 10% (B) 20% (C) 25% (D) 40%

The opportunity cost approach in human resource accounting was introduced by

(A) Hekimian and Jones (B) Rensis Likert
(©) Eric G. Flamholtz (D) William C. Pyle
Match the items of List-I with those of List-II.
List -1 List —II

(Accounting Standard) (Relationship)
1. AS6 i.  Accounting for consolidated financial statements
2. AS3 ii.  Accounting for fixed assets
3. AS10 iii. Depreciation accounting
4. AS21 iv.  Accounting for cash flow
Statements :

1 2 3 4

(A) ii iv iii i

(B) iii iv ii i

©) iv iii i ii

(D) i ii iii iv

Schedule III Part II of the Companies Act, 2013 deals with which one of the following ?
(B) Format of profit and loss account

(A) Format of balance sheet
(D) Format of cash flow

(C) Format of trading account
Which one of the following methods of Inflation accounting has been proposed by
Sandilands committee of U.K. ?

(A) General Price Level Method

(B) Specific Price Level Method

(C) Current Cost Accounting Method

(D) Generally Accepted Accounting Principles
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7.  Financial accounting statements are subject to
(A) Cost audit (B) Forensic audit
(C) Statutory audit (D) Non-statutory audit
8. Insinking fund method of depreciation, the amount of depreciation
(A) Increases every year (B) Decreases every year
(C) Remains constant every year (D) Increase or decrease every year
9.  Cash discount allowed to a debtor should be credited to
(A) Discount account (B) Customer’s account
(C) Sales account (D) Cash account
10. Human resources will not appear in the balance sheet according to concept.
(A) Money measurement concept (B) Accrual
(C) Going concern (D) None
11. Under inflationary conditions, which of the methods will not show greatest value of cost of
goods sold ?
(A) FIFO (B) LIFO
(C) Weighted average (D) Simple average
12. Payment of custom duty on import of machinery for modernization of company during the
current year is _
(A) Capital expenditure (B) Revenue expenditure
(C) Deferred revenue expenditure - (D) Un-productive expenditure
13. What does the term third sector refer to ?
(A) The high technology industry (B) The service sector
(C) The voluntary sector (D) SMEs
14. Financial accountancy is governed by
(A) Local standards only
(B) International standards
(C) Local as well as international accounting standards
(D) Company’s internal top management only
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15.

16.

17.

18.

19.

20.

Economic life of an enterprise is split into the periodic interval to measure its performance
is as per :

(A) Equity (B) Matching (C) Periodicity (D) Accrual

A loan becomes a Non-Performing Asset (NPA) when the interest or principal becomes
overdue for a period of :

(A) 5 years (B) 90 days (C) 180 days (D) 365 days

Banks are required to classify Non-Performing Assets into
(A) Sub-standard assets, doubtful assets and loss assets.
(B) Standard assets and sub-standard assets.

(C) Doubtful assets and bad debts.

(D) Doubtful assets, bad debts and loss assets.

Which one of the following is the correct sequence of various stages of operating cycle of a
manufacturing company ?

(A) Raw material conversion period, work in progress conversion period, finished goods
conversion period, receivables conversion period.

(B) Raw material conversion period, work in progress conversion period, creditors payment
period, receivables conversion period.

(C) Creditors payment period, raw material conversion period, receivables conversion
period, work in progress conversion period.

(D) Raw material conversion period, finished goods conversion period, work in progress
conversion period, receivables conversion period.

Leela draws an accommodation bill on Sheela. The proceeds are to be borne between Sheela
and Leela in the ratio of 3 : 1. The amount of bill ¥ 6,000, discounting charges T 120.

Discount borne by Sheela will be
(A) T90 (B) T 120 (C) T 100 (D) T 110

If the due date is a public holiday, what will be the due date of the bill ?
(A) Following day  (B) Precedingday  (C) The same day only(D) One month later

21. Managerial remuneration is payable to managerial personnel within the overall ceiling
prescribed in the section of the Companies Act.
(A) 1956 (B) 1959 (C) 1947 (D) 1955
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22.

23.

24,

25.

26.

27.

28.

Opening inventory ¥ 3,500, closing inventory ¥ 1,500, cost of goods sold ¥ 22,000. What is
the amount of purchase ?

(A) ¥20,000 (B) ¥ 24,000 (C) T27,000 (D) ¥ 17,000
ABC Ltd. has a total fixed cost of ¥ 2,00,000. The selling price per unit is ¥ 50 and the
variable cost is ¥ 30. The break even points are

(A) 12,000 units (B) 10,000 units (C) 5,000 units (D) 4,000 units

Standard costing is a technique which involves comparison of

(A) Variable cost with the total cost.
(B) Fixed cost with the variable cost.
(C) Actual cost with the competitor’s cost to find variation.

(D) Actual cost with the standard cost to find variation.

The minimum level of stock represents :

(A) The normal issues of stock are usually stopped at this level.

(B) The level at which indents should be placed for replenishing stocks.

(C) The minimum quantity above which stocks should not be held at any time.

(D) The minimum quantity of stock that should be held at all times.

The primary objective of cost accounting is
(A) Tax compliance (B) Financial audit

(C) Cost ascertainment (D) Profit analysis

The cost which is to be incurred even when a business unit is closed is a/an

(A) Imputed cost (B) Historical cost (C) Sink cost (D) Shutdown cost

Direct expenses are also called as
(A) Major expenses (B) Chargeable expenses
(C) Overhead expenses (D) Sundry expenses

C1
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29.

30.

Pension refers to

(A) The death and retirement gratuity

(B) The lump-sum amount received from the government.

(C) The periodic payment of money for the past service of the employee.
(D) The past savings of the employee.

Dearness allowance is taxable in the hands of
(A) Employees working in public sector undertakings.
(B) Government employees.

(C) Non-Government employees.

(D) All employees

& §
Ky

Rent received from the vacant plot of land is taxable under the head —

31.
(A) Profit from business (B) Income from house property
(C) Income from other source (D) Income from capital gain
32. Match the following and choose the correct option :
a.  Process costing — 1. Hotel industry
b.  Contract costing —  ii. Paper industry
c.  Service costing — iii. Drugs industry
d.  Batch costing — iv. Road construction
a b c d
(A) ii iii i iv
B) i iv ii iii
©) ii iv i iii
D) iv i i
33. The budgeting method under which the budget is prepared from the scratch is known as -
(A) Incremental budgeting (B) Flexible budgeting
(C) Static budgeting (D) Zero based budgeting
34. Incometaxisa
(A) Indirect tax (B) Professional tax (C) Direct tax (D) Service tax
Space For Rough Work
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35, Where interest received, commission received or rent received will be recorded in Tally ?

(A) Payment (B) Receipt (C) Contra (D) Journal
36. In Tally, business parties can be created through

(A) Ledger creation window (B) Inventory creation window

(C) Group creation window (D) Company creation window
37. number of voucher types are available in Tally.

(A) 16 (B) 20 (C) 18 (D) 22
38. ¥ 10,000 withdrawn from State Bank. Which type of voucher is used in Tally to record

this ?

(A) Payment (B) Receipt (C) Post-dated (D) Contra
39. In Tally, manufacturing journal is created based on

(A) Journal (B) Stock journal

(C) Receipt note (D) Purchase quotation
40. Shortcut key used to cancel a daybook of vouchers in Tally ERP 9 ?

(A) Alt+X (B) Ctrl +P (C) Alt+A (D) Alt+P
41. If the house property remains vacant for the whole year, annual value will be

(A) Nil (B) Equal to fair value

(C) Equal to municipal value (D) Equal to market value
42. Branch or division is a group defined under

(A) Liabilities (B) Assets (C) Income (D) Expenditure
43. Which sub menu is used for voucher entry in Tally ?

(A) Accounting vouchers (B) Accounts info

(C) Vouchers (D) Company info
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44,

45.

46.

47.

49.

ODBC stands for .

(A) Open Data Base Calculating (B) Open Data Base Connectivity

(C) Open Document Balance Calculating (D) Order Data Base Connection

Under which account drawings account will be linked in Tally ?

(A) Current asset (B) Current liability (C) Drawings (D) Capital

In Tally screen right extreme displays

(A) Company’s name (B) Date (C) Gateway of Tally (D) Button bar

GHIRRAAT. CO M

In Tally, service tax report can be seen from

(A) Display — day book

(C) Display —» statutory masters

ERP stands for in Tally.
(A) Enterprise Resource Planning

(C) Efficient Resource Planning

Home screen of Tally is also called as

(A) Accounts info

(B) Display —» account books

(D) Display — statutory reports

(B) Economic Resource Planning

(D) Economic Resource Processing

(B) Button Toolbar

(C) Gateway of Tally (D) Menu bar
50.  How to activate calculator in Tally ?
(A) Alt+F2 (B) Ctrl +n (©) Ctrl+m (D) Alt+m
Space For Rough Work
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51.

52.

S3.

55S.

56.

57.

Which type of capital is called as Risk capital ?
(A) Preference share capital (B) Equity share capital
(C) Debentures (D) Short-term loans

Equity share capital is known as permanent capital because

(A) It is to be repaid only at the time of liquidation.

(B) It is to be repaid in the middle of the financial year.

(C) Itis to be repaid at the beginning of the financial year.

(D) It is to be repaid at the end of the financial year.

Construction contract is to be used in for the accounting of construction contracts in the
financial statements of the contractors as per

(A) AS-6 (B) AS-7 (C) AS-11 (D) AS-12

Loans made by multiple lenders to a single borrower is called

(A) One way loan (B) Simple loan (C) Participation loan (D) Risk loan

Which of the following is not a type of merger in amalgamation ?
(A) Horizontal merger (B) Vertical merger

(C) Conglomerate merger (D) Zone merger

CPA firm means
(A) 'Is an accounting firm with unlicensed accountant.

(B) Is an accounting firm with at least one certified public accountant who are licensed in
their state.

(C) Is an accounting firm without certified public accountant.

(D) Is an accounting firm with at least two partners.

Choose the asset given below, for which amortization can be applied in accounting.
(A) Land and Building (B) Equipments
(C) Copyrights (D) Furniture

C1
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58. Which account is the odd one out ?

(A) Office furniture & equipment (B) Freehold land and buildings
(C) Stock of raw materials (D) Plant & machinery

59. Interest on capital will be paid to the partners if provided for in the agreement but only from
(A) Profits (B) Reserves
(C©) Accumulated profits (D) Goodwill

60. In case of redemption of preference shares out of distributable profits, an amount equal to
the nominal value of preference shares rWust be transferred to the :

(A) Development rebate reserve. QEf\- (DD)
(B) Investment allowance reserve. 9\"“

(C) Capital redemption reserve.

(D) Premium on redemption of preference shares.

61. If a purchase return of ¥ 150 has been wrongly posted to the debit of the sales retum
account, but had been correctly entered in the suppliers account, the total of the trial balance
would show
(A) the credit side to be T 150 more than the debit side.

(B) the debit side to be ¥ 150 more than the credit side.
(C) the credit side to be ¥ 300 more than the debit side.
(D) the debit side to be ¥ 300 more than the credit side.

62. Hire purchase price =
(A) Cash price + Total interest (B) Cash price — Total interest
(C) Cash price + Total interest (D) Cash price x Total interest

63. The maximum number of shares permitted to the company is known as :

(A) Subscribed capital (B) Issued capital
(C) Called up capital (D) Authorised capital
64. What is the rate of interest to be paid to the share applicants, if company fails to pay the
application money within 60 days ?
(A) 7% p.a. (B) 9% paa. ©) 11% pa. (D) 12% p.a.
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65.

67.

69.

70.

71.

72.

According to the decision in Garner vs. Murray, in the absence of any agreement to the
contrary, the deficiency of the insolvent partner must be borne by the solvent partners in the
ratio of

(A) Capital ratio (B) Old profit sharing ratio
(C) New profit sharing ratio (D) Debt equity ratio

A is given to the customer when he returns the goods.

(A) Credit note (B) Debit note (C) Invoice (D) Cash memo
Recovery of bad debt is a

(A) Revenue receipt (B) Capital receipt

(C) Capital expenditure (D) Revenue expenditure
Under Annuity method the amount of depreciation is found from

(A) Log tables (B) Sinking fund table

(C) Annuity table (D) Present value table

All branch expenses such as rent, salary are paid by the head office in case of
(A) Independent branch (B) Local branch

(C) Regional branch (D) Dependent branch

The error caused because of the failure to differentiate between capital and revenue
expenditure and capital and revenue receipts is :

(A) Compensatory error (B) Error of commission
(C) Error of omission (D) Error of principle

Internally generated goodwill is :

(A) Shown in Trading account (B) Shown in Profit and Loss account
(C) Shown in Balance sheet ‘ (D) Not recorded in the books
At the time of death of a partner, firm gets from the insurance company against the

joint Life Policy taken jointly for all the partners.

(A) Policy amount

(B) Surrender value

(C) Policy value for the dead partner and surrender value for the rest
(D) Surrender value for all the partners
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73. If the hire vendor may take away all the goods on which there is default of instalment it is
called
(A) Repossession (B) Partial repossession
(C) Complete repossession (D) Purchase
74. Instalment system is governed by
(A) Hire Purchase Act (B) Sale of Goods Act
(C) Instalment Act (D) Properties Registration Act
75.  The period for which insurance policy is taken against the risk of fire is
(A) Accounting period (B) Calendar period
(C) Indemnity period (D) Standard period
76. Secret reserve can be created by
(A) Debiting P & L A/c (B) Undervaluing assets
(C) CreditingP & L A/c (D) Crediting P & L appropriate A/c
77. All personal, real and nominal accounts are opened in :
(A) Single entry system (B) Double entry system
(C) Accrual system (D) Mercantile system
78. Under single entry system in conversion method, a total debtors account is prepared to find
out
(A) Credit purchases (B) Cash purchases
(C) Cash sales ' (D) Closing balance of debtors
79. Under instalment system the relationship between the buyer and seller is that of a
(A) Buyer and seller (B) Bailor and bailee
(C) Pawner and pawnee (D) Debtor and creditor
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74.

75.

76.
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80.

81.

82.

An income-demand curve for a “Luxury commodity” slopes :

(A) Upward to the right from the origin

(B) Vertically

(C) Upwards from left to right only beyond a certain level of consumer’s income
(D) Horizontally

Match the following :
a.  Cardinal approach 1.  Marginal utility
b.  Ordinal approach 2. Alfred Marshall
¢. Hicks-Allenapproach 3.  J.R. Hicks
d.  Consumer’s surplus 4. Indifference curve
5. Revealed preference theory
a b ¢ d

a 1 2 3 4
@ 1 5 4 2
© 1 3 4 2
1 3 2 4
If the goods purchased are in transit then the journal entry at the end of the period will be
(A) Goods-in-transit A/c e Dr

To Supplier’s A/c
(B) Goods-in-transit A/c e Dr

To Purchase A/c
(C) Stock Alec e Dr

To Goods-in-transit A/c
(D) Supplier’sAlc e Dr

To Goods-in-transit A/c

A Bank reconciliation statement is prepared by :
(A) The Bank (B) The Government
(C) The Bank account holder (D) The user of financial statements

When with a change in price the total outlay on a commodity remains constant, it is a case
of:

(A) Perfect elasticity (B) Perfect inelasticity
(C) Unit elasticity (D) Zero elasticity )
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85.

is the rate of interest which is levied on long-term loans and advances taken by
commercial banks from RBI.

(A) Reverse repo rate (B) Fixed interest rate
(C) Bank rate (D) Repo rate
86. The designer of Indian Rupee sign is
(A) Hitendra Swami (B) Udaya Kumar Dharmalingam
(C) Panduranga Kumarlingam (D) Manmohan Singh
87. PIN stands for
(A) Portable Identification Number (B) Permanent Identification Number
(C) Personal Identification Number (D) Private Identification Number
88. The Central Public Sector Enterprises (CPSE’s) viz. BHEL, Coal India, PFCL, IOC have
the status of :
(A) Navratnas (B) Ratnas (C) Maharatnas (D) Miniratnas
89. IFSC Code consists of :
(A) 11 digits (B) 14 digits (C) 12 digits (D) 15 digits
90. Which of the following statements about the NABARD is/are true ?
1. NABARD has a dual role to play as it is an apex body and a refinance institution.
2. NABARD services as a refinance institution for all kinds of production and investment
credit to agriculture and cottage and village industries.
3. NABARD accepts short-term deposits from the public like any other bank to improve
its capital base.
(A) only 1 (B) only 2 (C) only 3 (D) only 1 and 2
91. From the resource allocation view point, perfect competition is preferable because :
(A) The firms operate at excess capacity levels.
(B) There is a whole variety of output produced.
(C) There is no restriction on entry and exit.
(D) There is no idle capacity.
92. The central office of the Reserve Bank of India is now located at
(A) Mumbai (B) Hyderabad (C) New Delhi (D) Goa
93. BFS stands for :
(A) Bureau of Financial Supervision (B) Board for Financial Supervision
(C) Bi-lateral Financial System (D) Banking and Financial System
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98.

100.

In Excel financial function, NPER is
(A) Net Permanent Earning Rate (B) Net Past Earning
(C) Net Present Earning Rate (D) Number of Periods

Circular flow of income in a two sector model implies :
(A) Payments from households to firms and back again.
(B) Payments from firms to firms.

(C) Payments from households to households.

(D) Payment from households to firms.

Which pair is not correct ?

(A) EXIM Bank - Financing for export-import
(B) RBI - Banker’s bank

(C) IDBI - Industrial finance

(D) FCI - Financial assistance to commercial institutions

National Income in India is estimated by :

(A) NITI Aayog (B) Finance Commission

(C) Indian Statistical Institute (D) Central Statistical Organisation
MICR stands for :

(A) Magnetic Ink Character Reader (B) Magnetic Ink Code Reader

(C) Magnetic Ink Cases Reader (D) Magnetic Issue Cases Reader

Application of information technology to the typical clerical and secretarial tasks such as
communication, correspondence, documenting and filing is called

(A) Documentation (B) Document generation

(C) Information retrieval (D) Automation

A storage area used to store data to compensate for the difference in speed at which the
different units can handle data is :

(A) Memory (B) Buffer (C) Accumulator (D) Address
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scanner, Therefore, avoid multiple markings of any kind on the OMR answer sheet.

Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

Once the last Bell rings, stop writing on the OMR answer sheet and hand over the OMR answer sheet to the room
invigilator as it is.

After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.
All questions carry equal marks. Every question for which wrong answer has been given by the candidate, 1/4® (0.25) of the
marks assigned for that question will be deducted. If a question is not answered by the candidate there will be no marks

deducted.
Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind is prohibited instde the

Examination venue.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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